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Pass Marks : 24
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- Q. Nos. 2 -7 carry 2 marks ench
Q. Nos. 8 -11 carry 4 marks each
Q. No. 12 carries 6 marks

PART-B (4 -&)

' Q. No. 13 ( i-wvi) carries 1 mark each
Q. Nos. 14-19 carry 2 marks cach

Q. Nos. 20 - 23 carry 4 marks each

Q. No. 24 carries 6 marks

Total (PART A & B):

4x4 =16
6x1 = 6
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%6 = 12
4x4 = 16
6x1= 6

" Total = 40
40 + 40 =80

Total number of pages - 16

fi dicate full marks i
Uj ﬁ BUG
Q. No. 1¢( i-wi) carries 1 mnrk each ﬁ L E &

; 2x6 =

Contd.



PART-A /F-9i2%

1. (1) Define involuntary unemp_lloymen‘t. £ e
g SR w5
(i) What is effective derhand ? - : SR e
- A& vifzm e
(ti() What do you understand by deprec1at10n of capital ? %
TR wEe af'm & gare
(zv) GNP = GDP. - : | (lel in the blank)

= G!J:LU DEBUG
RESS exchangemzﬁnmﬂ e

Zamﬁasﬁﬁma@m%?

(vi) Which ofi the following transactions are included in the current

account of Balance'of Payment ? > = = i
~'.9fﬁm&ﬁﬂmm“—ﬁm—ﬁﬁfil— @W RO SRGE 22

(@) Import and Export of goods
TR I o a@rﬁ

(b)  Import and Export of servicés

R SR Sl e
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: () Unilateral transfor _

o W

(d) All of the ab,ove. ,
8RS ‘mmz

(Choose the correct option)

(w5 Teso! IR TRST)

2 erte the differences between GDP at market price and GDP at' factor cost.
= 4

UJJJ D&. U G'
- dpefary

Write one similarity and one difference between intermed1ate goods and

-cap1ta1 goods | o : ’ T12

,‘aﬁmmfﬁm aﬁmmm ﬁﬁ‘fvmf@ i

‘3, What do you understand by "Para‘dox of Thnft’ e ‘ 2

‘e 1 oo A S [ e
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What is aggregate supply ? -_Explain. k9 ‘ 2
@S i fe? ey e '
4. Write {wo differences between direct tax and mdirect fax. 2

T T W A 1 e ﬁvﬁ@mr

5. What are the components of high-powered money ? 2

OSSR W%’frmqqf%ﬁ“?

= | :
e Bank Rate and Cash e Ratio: 1+1=2
SR W I Wﬁ [ :
6. Write fwo differences betWééﬁ Balance of Payment and Balance of Trade.
2

'ﬁﬁﬂmwwwﬁmwm yﬁfonéhsi.ﬁam

7. Write in brief the ideas of fixed exchange rate and flexible exchange rate.

%ﬂﬁﬁmmmﬁﬁﬁ@ﬁaﬁmmammqmmﬁm
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'8 What is investment multiplier ? If a new investment of Rs. 300 crore
increases National Income by Rs. 1200 crore, calculate the value of

investment multiplier. In this case, what will be the value of MPC ?

S 1+1+2=4

el we fe TTZ 300 (I B TR e o wiw 1200 (o 5

f 9=, coTs R geies W 24 7 Gapmae, MPC< W RiR 297
OR/®%dl

FPNCL1919) E BUG

AIRPTE PR A

-y Write.diﬁferences between the following concepts : (any two) 12524
_ﬁaﬁ%mmwenﬁmm (ﬁmzmtﬂ?ﬁ)

(i) Autonomous mvestment and Induced investment.
KiS) ﬁﬁm‘ﬁ e Tferes ﬁﬁmﬂ |
(1) Ex-ante consumption and Ex-post consin‘nption.r

e Toreil TR (TE TS
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- (1) Marginal propensity to consume and Mafginal propensity to save.

aw%zs Toirei &?‘1“7 i 2 e Rl

(iv) Marginal propensity to consume and Average propensity to consume.

EieE ool erael Wi o Yoreie ke |

10 Discuss four main functions of 'Ce'ntra‘l Bank. : o 4

8
8
© je
‘m
vy
g
O

Explain how commercial banks create credit, s o )

AT @ @R 2 5 v Ry <=

11. Discuss the components of Government Budget. el 4

bR AT AR SCaISR] 1|
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\

Define the following : sl fe bRl

TS W ptcaRGRIE
(i) Fiscal Deficit
‘(ii) Primary Deficiti

mmmﬁ?

@iii) Planne

IJUDEB UG

1z Explam how GDP is calculated using Income method.

WWW mcmﬂwwm,wwu
OR/we/ar |

GDP car't be used as an 'mdéx of country’s welfare.

Discuss the reasons why
6

GDP = G awm«aﬁs«ﬁwaﬁa Wmmmwl
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PART-B / <-5ice
13. (i) Define sustainable development. el
T RIS ke e |

(i1) f)u_riﬁg British rule, decay of Indian handicrafts was caused by =
| i
o =rwaieTe vires e ovg w0 wifee] —

(@) Discriminatory tariff policy of the British Government

EBUG
X<l

i 2

u

LIRS

(c) ‘Change‘ in patterns of demand
bIfRAR e sifead

(@ Al of the above

ST I

’ . (Choose the correct option)
, A e " (55 Sgaht Ak SEew)
(i) In which yeér the NITI Aayog was formed ?" L

e (NITD) Sicamt comt 57 sisw =1 Tl
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~ (iv) What is the difference between ‘Labour Force’ and ‘Work Force’ ?
1

mﬁ? e e’ TeR AL e

(v) Mention one similarity of the economic policies adopted by India and

Paklstan o : 1

wmﬁw@m@mw@mﬂ”—a aﬁfm“rmzrwu

(vi) *The ‘Great Leap Forward’ campaign in China focused on —
: : :

_ 30c ﬂif"(.‘— IR A (Great Leap Forward) W‘E‘NW PRISEES

= {JFUDEBUG

anatlsatmn

ffgaed @@W%

Widespread 1ndustr1ahsat10n

W%ww mﬂm

(c) Déveloprﬁent of services sector

RE

cRI ey R

(d) Econoinic reform

wAET AHE
(Choose the. correct option)

(w5 GG aﬂﬁ @’fﬁmar)
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14.  Mention two major industrial sector reforms in the Indian econoniy under

the policy of liberalisation. | ' 2

CIIRITRe e Spi SRS weRfeR T Ve AT T 70T ey WER
S |

OR/&241

Write about fwo positive effects of LPG policies in the Indian economy.

two merits of GST. : ‘ | > _ 2
GST- 7! ARt favai |
OR /@33t

What is denionetisation ? Mention one positive effect of demonetisation in
the Indian economy. 9
Rumead &2 oo wififos Rumeer <5 e 2oR BEe 71|
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16. What is structural composmon of an economy ? As on 2021, which sector

'contnbuted highest to the GDP of India ? : - 1+1=2 ;

s wsfefe el ﬁs? 2021 5 (TSl 4T OISR GDP €A e
EOA0] @ﬂﬁ:@?

OR/%1%41

Write two characteristics of small-scale industries. z

tu»o dlfferences beWgﬁ and socml

“infrastructure.

-weftafes wmzﬂ*wﬁ % ﬂmfﬁsw st 707 s ol
 OR/=%at

Write about two pr'dblems faced by'the power sector in India. 2

e e 0% AR g 7By e e o
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18. Write any two measures undqrtﬁken by the 'Gover'nment of India_ to
‘improve agricultural marketing. . | 2
IR TR T T A SR 5RRR G N R 75 e G |
OR/%A

\

What do you understand by diversification of agriculture ? 2 |
"UJUDEBUG
the three main approac@mof India

o alleviate poverty ? ‘ 7

st e e A o e
dR/wf@

Write a short note on MGNRE.‘GA».‘A ‘ | . et e

AMVG~NREG‘A—< ﬁm BICE GOl mﬁm | |
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20. Discuss the goals of planning in Indié.
oReTEs ARTER TP ST 34
OR/@%A1

Briefly discuss two positive and two negative impacts of Green Revolution.

2+2=4

- ies R wﬁwm mmqmawmmwm«n

- JIUDEBUGS
| Pakistan, @Eﬁ@mﬂ 4

m\mﬁwﬁaﬁm%ﬁsw ﬁammﬁﬁwﬂm

Wy

G MW1
OR/@%l

(i)~ Write two reasons for rapid economic development in China. R &

St we wefen R 75 e
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(i)  Write two reasons for slow économi‘c grthh in Pakistan. 2
 RTR NI e s Y 7y <i=e e |
- 22. . Write about different types of @nerﬁployment. e S 4

23. Is economic growth, a cause of environmental degradation ? Justify your -

answer. »_ e ' ! o s
FRTUIUPDEBUYG

OR/9e . B e T
(i) Write two causes of global warming. 2 = . 2

e Treel gw 751 T fﬁwﬂ

(i) Suggest two measures for attaining sustainable development in India.

=
SRS T Tz @liflT A 01 A S|
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4. What is orgarﬁc’farming' ? Discués 1ts -meﬁt§ aﬁd_ demerits. 1+5=6: .
mﬁ%?maﬁmmwﬁm‘wwi »
~ OR/®@%T

What is Human Capital ? Discuss the sources of human. capifal formation.

w%mﬁs? ms{éﬁmﬁéwﬁmm . ‘
fechnology Company
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